GRAMMAR

INFINITIVE AND INFINITIVE CONSTRUCTIONS

< Forms
Active Passive
Simple to do to be done
Perfect to have done to have been done
Continuous to be doing -
Perfect Continuous | to have been doing -

The Simple Infinitive and the Continuous Infinitive express actions simultaneous with the action of the finite verb
(now / now; then / then — the Simple Infinitive or the Continuous Infinitive).
The Perfect Infinitive and the Perfect Continuous Infinitive express actions prior to the action of the finite verb
(now / before now; then / before then — the Perfect Infinitive or the Perfect Continuous Infinitive).
now/ now — The Simple Infinitive
I am pleased (now) that I see you I am pleased to see you in good
(now) in good health. health.
now/ now — The Continuous Infinitive
I am not pleased (now) that I am I am not pleased to be working such
working (now) such long hours. long hours.
then/ then — The Simple Infinitive
I was pleased (then) that I saw him I was pleased to see him in good
(then) in good health. health.
then/ then = The Continuous Infinitive
I was not pleased (then) that I was I was not pleased to be working such
working (then) such long hours. long hours.

now [ before now = The Perfact Infinitive
I am pleased (now) that I I am pleased to have passed the
passed / have passed (before now) exam.
the exam.

now [ before now — The Perfect Continuous Infinitive
I am not pleased (now) that I have I am not pleased to have been wait-
been waiting (before now) a long ing a long time.
time.

then [ before then — The Perfect Infinitive
I was pleased (then) that I had I was pleased to have passed the ex-
passed (before then) the exam. am.

then [ before then — The Perfect Continuous Infinitive
I was not pleased (then) that I had I was not pleased to have been wait-
been waiting (before then) a long ing a long time.
time.

I. Common Structures with the Infinitive

Pattern 1

Infinitive clause after the adjectives expressing someone’s feelings.
delighted glad pleased SOITy
disappointed (un) happy proud surprised
fortunate (un) lucky relieved upset

You can use the infinitive clause if the subject is the same in both clauses. If the subjects are different, you must use a
that-clause.

They were glad to know the parcel had arrived safely.

He is lucky to be going by air.
but: He was glad that they were coming to the party.

The most common infinitives used in this pattern are: find, learn, hear, see, say, tell, inform.
I was relieved to hear | see | learn that I'd passed my exam.



Exercise 1. Combine the sentences using either an infinitive or a that-clause.

1.

e.g.

a. Jane heard the news. She was unhappy.

b. Jane was ill. | was very upset.

a. She accepted my proposal. | am happy.

b. | have won the prize. | am happy.

a. She will see him at the picnic. She will be delighted.

b. Everyone enjoyed the party. We were absolutely delighted.

a. You are very fortunate. You have found such a pleasant house.
b. Emily failed the exam. John was disappointed.
a. Liza’s boyfriend has found a new girlfriend. Liza is sad.
b. Peter saw her in tears. He was very surprised.

Pattern 2
Of-phrases with the infinitive.

You use the structure “of someone + to-infinitive” after the following adjectives:

brave generous (im) polite typical
careless good sensible unreasonable
characteristic (un)kind silly wise

clever mean stupid wrong, efc.

It's kind of you to help.
It is very bad of him not to have told me that before.

Exercise 2. Make up sentences to express your attitude towards someone’s actions. Use the
adjectives given in the box.

Model: You lent me the money. — It was kind / nice / generous of you to lend me the money. He
did not call her. — It's bad / inconsiderate of him not to have called her.

arwbhd =

He sent me a birthday card and flowers.

He opened your letter.

He threw the ticket away.

He donated a lot of money to the orphans’ asylum.
She didn’'t call and say she’d be late.

Exercise 3. Translate into English using of-phrases with the infinitive.

I

Tak Muno c Ballen CTOPOHbI, YTO Bbl 3alUnM NO3OPaBUTb MEHS C OHEM POXAEHUS.

[na Monogoro noKoneHust TUNMYHO AyMaTtb, YTO MX MOMOAOCTb MPOLMUTCH BEYHO.

BbIno rnyno ¢ Ux CTOpoHbI Tak BeICTPO NOXEeHUTbCA. OHM HEAOCTATOYHO XOPOLUO 3HaNW Apyr agpyra.
BbIno o4eHb HEBEXNMBO C TBOEWN CTOPOHbI JaXe HE NO340POBaTbCs C HUM.

Bbino oyeHb BecneyHo ¢ TBOEN CTOPOHbI HE NPOBEPUTL, 3anepnia nu Tbl ABEPb Nepen yXoOoM.

Exercise 4. Use the right form of the infinitive.

arwDd =

Sarah pretended (enjoy) herself although she felt like crying.

We didn’t expect (treat) like royalty.

They were fortunate (rescue) from the fire before the building collapsed.
Small children are eager (ask) questions and they always demand (answer).
The little boy was proud (skate) for so long without falling down.



Exercise 5.

PebeHok ObIn ropa, YTo ¢ HAM obpalLanmch kak Co B3pOCHbiM.

MHe anb, 4YTO 51 Bac NpepbiBato, HO Y MEHsi BaXKHOE CoobLLeHNe.
OHa 6bina cyacTnmea, 4To el Nogapunn CnopTUBHbLIA aBTOMOOUIb.
OH coxanen, 4To NPUYMHU UM CTONbKO GecrokoncTea.

OHa yTBepXaaeT, YTo YKe 3annaTuna no cyeTy.

Pattern 3

Infinitive used after the introductory it as subject of the sentence.

arwbd =

it + be + adjective / noun + to-infinitive

It’s your duty to study.
It was a mistake to ignore his letter.
Wouldn't it be better to escape from the country?

Note: In formal writing the infinitive can be placed before the verbs be, appear, seem.
To exceed the speed limit is dangerous.
To save money now seems difficult.

Exercise 6.
Model: Studying is important. — It is important to study.

Making the same mistake twice is unforgivable.

Finding a good job is quite a problem nowadays.

Living on one income is difficult.

Arriving home after a long absence is always a pleasure.
Killing animals to make fur coats is cruel.

A

< Pattern 4
Infinitive used after the introductory it as object of the sentence.
If it + be is preceded by think, find, consider, make (that), the words be and that can often be omitted.

| verb + it + adjective / noun + to-infinitive |

find it difficult / hard / interesting / pointless / etc. to do smth
think it polite / foolish / important / one’s duty / etc. to do smth
consider it tactless / reasonable / wrong / an honour / etc. to do smth

I find (thai) it (is) impolite to interrupt people. — I find it impolite to interrupt people.
He thought (tha#) it (was) his duty to help her. — He thought it his duty to help her.

B.

make it a point / a rule to do smth
make it painful / difficult / (im)possible / necessary (for smb) to do smth

He makes it an invariable rule not to give anything to beggars.
My mother’s illness made it impossible for her to walk.

Exercise 7. Complete the sentences using Pattern 4.

| don’t think it is wise to worry about the future. | find it pointless...

| consider that it is a great honour to be here with you today. | consider...

It was always interesting for her to watch an artist at work. She found...

It is difficult for small children to say long words. Small children find...

| think it is foolish to talk about my problems with other people. I think...

It was difficult for him to find a job as he was disabled. His disability made...

| always try not to eat fatty foods. | make it a rule...

She felt pain when she walked because of the blister on her foot. The blister made...

He always took particular care to arrive fifteen minutes early at the office. He made it a point...
0. Patients will have to stay in hospital overnight because of the new treatment. The new treatment will
make...
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Pattern 5
Infinitive used after adjectives describing personal opinions.

When you want to express an opinion about someone or something, you often use an adjective followed by “to™-
infivitive. The adjectives commonly used in this pattern are: easy, difficult, hard, (im)possible, (un)safe, (un)plea-
sant, etc.

The problem is hard to solve.
She was interesting to talk to.

Note: In this function you always use Present Infinitive in the Active Voice,

Exercise 8. Paraphrase the sentences according to the model.

Model: It's pleasant to look at her. — She is pleasant to look at. It is easy to follow these instructions. — These
instructions are easy to follow.

aoRrwDd =

It is impossible to work for him — he is disorganized.

She always complains, it is difficult to please her.

It would be impossible to compensate for lack of parental attention.
It is not very easy to get on with Jane.

It was always interesting to talk to our professor.

Exercise 9. Translate into English using Pattern 5.

1. Ha Hero HeBO3MOXHO MOMOXWUTbLCS, OH OYEHb 3a0bIBUYMBLIN.
2. Ccopy 6bIno Henerko ynaavTb, XOTS OH OYeHb cTaparcs.
3. OTy KHWUIY MHTEPECHO YMTaTb 1 Nerko nepeckasbiBatb. BOT noyemy oHa nonb3yeTcs Cnpocom y
CTYAEHTOB.
4. Ero nocTtynku HEBO3MOXHO NpeackasaThb.
5. C [xekom TpyaHO naguTb, OH Bcerga Yem-To HeOBOSEH.
< Pattern 6

Infinitive used as attribute to replace relative clauses.

1t follows nouns, pronouns, noun groups that include an ordinal number (the first, the second, etc.), a superlative (the

oldest, the best, etc.), or a word like next, last, or only.

Notes: 1. After the first, the second, etc., the next, the last, the only and the superlatives you can use either an active

or a passive infinitive.

He was the only person to complain. (active meaning)
She was the first to be given a prize. (passive meaning)

2. After nouns / pronouns the infinitive shows what can be done or must be done with someone or something.
George is the man to vote for. (= for whom we should vote)
I have letters to write. (= that T must write)

3. After “there is / are™ you can use a passive infinitive but an active infinitive is more usual.
There is plenty to do [ to be done.

4. There is a difference in meaning between the following set phrases:

something / anything / nothing something / anything / nothing
to do to be done

There is nothing to do. There is nothing to be done.
Heuem 3anamovcs. Huuezo ne nodenaeuts.



Exercise 10. Complete the sentences using the infinitives from the box.

tocatch tofind tocomfort to satisfy toreceive tosettle to feel to take

oORrw0b=

There is nothing ashamed of.

She is always busy. She has 3 children care of.

| need money badly. | have a bill

| really must go now. I've got a train .

He was the only person no replies to his job applications — not a single one.

Exercise 11. Paraphrase the sentences using the infinitive.

aoRrwDd =

All the hotels were full and we had nowhere where we could stay.

Edmund Hillary and Tenzing Norgay were the first mountaineers who reached the top of Everest.
He was the last person who was convinced by my arguments.

They had so little that they could tell each other that they kept silent.

She was not the type who would put on weight.

Exercise 12. Translate into English using Pattern 6.

aprwbhd =

OH He Takomn YeroBekK, KOTOpbIN Obl CTbIANACSA CBOUX MOCTYMKOB.

Y Hac eCcTb BOMPOC, KOTOPbIV HY>XHO CPOYHO PEeLLMnTb.

Ynpasngatowmi 6b1n nepBbIM, KTO NOTpeboBan oT Hero 06BbACHEHWIA.
Heuemy 3aBngoBaTth, KOMGOPT — 3TO eLle He BCe, YTO HYXHO AN cYacTbs.
Henatb Hedvero, NpuaeTcsa yaoBNeTBOPUTL ero TpedboBaHmus.

Pattern 7
Infinitive used as attribute after nouns.

Some common nouns can be followed by an infinitive with “to”.

(inh)ability determination promise
attempt eagerness refusal

chance effort (un)willingness
desire failure wish

decision plan

Exercise 13. Complete the sentences using the nouns from the box above.

1.

B

The Gunpowder plot was a secret to blow up the Houses of Parliament in London in
1605.

The government’s latest promises are nothing but a further to cynically deceive the
public.

She shows a to work on her own initiative.

He has a great to succeed.

The to try living in a foreign country was not an easy one.



Pattern 8

Infinitive used to express purpose.
She’s saving up to buy a car.
You have to have a good nose to be a wine expert.
We must make every effort to find a diplomatic solution to the crisis.

In a more formal style you can use in order to or so as to.

e.g. She started to cry in order to arouse sympathy and pity from her parents.
That winter they had to burn some of their furniture so as to keep warm.

In negative sentences, you normally use so as not to (NOT “not to” alone).

e.g. We left early so as not to be late.
So as not to embarrass him, I never criticized him for his frequent failures.

Exercise 14. Answer the questions using Pattern 8.

Model: Why did he drink lots of black coffee?
— He drank lots of black coffee (in order) to keep awake. /
He drank lots of black coffee so as not to fall asleep.

Why does he often write things down?
Why did Mary practise English every day?
Why did you turn down the music?

Why is John saving up?

Why did Sam leave so early yesterday?

AE ol

Exercise 15. Translate into English using Pattern 8.

A npuwen ctoga, YTo6bl NoTpeboBaTh 06 BACHEHNS.

OHa ycTpounacb noyaobHee, 4Tobbl HE YyBCTBOBATb CEOSA yCTaBLUEN K KOHLY MOE3OKW.
Ha BeyepuHke Mapu TaHUeBana TONbKO C [PKOHOM, YTOObI HE BbI3BaTb €M0 PEBHOCTb.
Ham Hy>xHO BCTpPeTUTbCH, YTOObI HAaKOHeL, pewwnTb 3Ty npobnemy.

OHa pgenana Bce BO3MOXHOe, 4ToObl JOrHaTb rpynmny.

aORrwd =

< Pattern 9

Infinitive used to express result.

The  Infinitive in  this function is used after such words as oo and  enough+
+ adjective / adverb.

too + adjective / adverb + infinitive
adjective / adverb + enough + infinitive

He is clever enough to understand it.
My mother is getting too old to wear extravagant dresses.

Notes: 1. In this pattern you use Active Infinitive.
2. If the subject in the main clause and the object in the result clause describe the same thing or person, it is im-
portant not to put an object after the infinitive in a simple sentence.
e.g. The bag is so heavy that [ can’t carry it. — The bag is too heavy to carry. (NOT “to carry it™)



Exercise 16. Paraphrase the sentences using Pattern 9.

Model: He is very tall and can touch the ceiling.

A

— He is tall enough to touch the ceiling.
She is extremely lazy. She can’t be a good worker.
— She is too lazy to be a good worker.

He is so old that he could be your grandfather.

The student was so smart that he could solve any maths problem.
| can’t do a parachute jump. | am not so brave.

These stars are very small. They can’t be seen with the naked eye.
They are poor but proud; they never borrow money or ask for help.

Model: The bus was so full that we couldn’t get on it.

aORrwDd =

— The bus was too full to get on.
The theory was quite simple. We understood it.
— The theory was simple enough to understand.

The bench was almost dry, and we could sit on it.

He ran so fast that we couldn’t catch up with him.

The sea was so cold that we couldn’t swim in it.

Some questions on the examination paper were extremely difficult. We couldn’t answer them.
The jeans are so tight that | can’t squeeze into them.

Exercise 17. Translate into English using Pattern 9.

Al

OHu eLle HegoOCTaTOYHO B3poOcCrible, 4YTOObI XXNTb OTAENBHO OT pOﬂ,I/ITeJ'IeIh.

OH TaKk monog, YTo He MOXeT pewaTtb Takne BONpPOCbl CAMOCTOATEN1bHO.

OH cnnLwKom 3aHAT, 4TObbI yaenaTb MHOIro BHMMaHunA Oetam.

MaTb Tak BonHOBanach, YTo He Morna 3aCHYTb, NOKa CblH HE BEPHYIJICA Jale]VIeI7H
OH He HacTOsbKO YecTontobue, YTObLI CTpeEMUTBLCA caenaTb Kapbepy.



